Ou

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

RECEIVED

JAN 2 4 2008

Division of Minerals

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of December 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	931,671	676,184	122,169,600	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

January 19, 2008

an

DEC 2 6 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of November 2007

PLANT OUTPUT

positive and in the second and an arrangement of the second and th							
Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.		
PW-1	DOM #671	0	0	O	219 Deg F		
PW-2	DOM #672	709,080	484,598	118,310,400	219 Deg F		

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

December 22, 2007



NOV 2 6 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of October 2007

PLANT OUTPUT

ge Temp.	Averag	Gallons Produced	KWH to Sales	KWH Produced	Permit No.	Well No.
Deg F	219 1	0	0	0	DOM #671	PW-1
Deg F	219 I	121,910,400	508,667	769,380	DOM #672	PW-2
De	219 I	121,910,400	508,667	769,380	DOM #672	PW-2

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

November 19, 2007



OCT 2 5 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of September 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	644,899	416,601	122,342,400	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

October 22, 2007

GW

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052 RECEIVED

NOV 0 2 2007

Division of Minerals

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of August 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	663,931	435,648	122,342,400	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

September 22, 2007



STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

AUG 2 2 2007

RECEIVED

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052 Division of Minerals

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Ho	mestretch Geothermal, LLC.	Addre	ss <u>15 Julian Ln.</u>	Yerington, NV 89447
Plant/Project	Wabuska Power Plant	County	Lyon	Month of JULY 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	719,981	476,352	118,267,200	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

August 18, 2007

au

RECEIVED

JUL 1 8 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of June 2007

PLANT OUTPUT

ILANI OUI UI							
Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.		
PW-1	DOM #671	0	0	0	219 Deg F		
PW-2	DOM #672	755,952	511,776	117,792,000	219 Deg F		

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

July 16, 2007

JUN 2 1 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of May 2007

GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons	Average Temp.
PW-1	DOM #671	0	. 0	Produced 0	219 Deg F
PW-2	DOM #672	694,701	476,352	122,112,000	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge...

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

June 18, 2007



STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVÍSION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

RECEIVED

MAY 2 5 2007

Division of Minerals

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln, Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of April 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	808,626	580,416	117,907,200	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

May 18, 2007

PECE 1960

APR 2 0 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of March 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	747,090	517,344	122,126,400	219 Deg F
				:	

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

April 16, 2007

W

RECEIVED

APR 0 2 2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of February 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	788,946	560,736	109,267,200	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

March 26, 2006

Homestretch Production

CSPP86-30 year Multiplier 21/2007 Multiplier 21/2008 1/200328 1/2007 5-80 5-80 7-835 1/2007 5-80 1/2007 5-80 1/2007 5-80 1/2007 5-80 1/2007 5-80 1/2007 5-80 1/2007 5-80 1/2007 5-80 1/2007 1/2007 5-80 1/2007 1/20			Homes	stretch Pro	duction		
## 1888 122/2007 10 221/2007 10 221/2007 10 10 10 10 10 10 10	1 000000 00		**************************************	Feb-07		: nonigramentaminaminalisticus conservativo conservativo conservativo conservativo conservativo conservativo conse	ий и или помента в помента в помента помента помента помента в помента в помента в помента в помента в помента В помента в
TOUJ On Peak Mild Peak Off Peak Total Unit 1 \$22,494.34 1/22/1/2007 5.613 5,180 7,835 1/22/2007 5.613 5,180 7,835 1/22/2007 213							700
TOU	harry and the same of the same		το	2/21/2007	C	urrent Hrs	720
221/2007			Batal Phanis	Off Danie		*** - 4 - 1 + 5 14 - 4	000 404 04
1/22/2007		INCOMESTIC DESTRUCTION OF THE PROPERTY OF THE					
Combined Total S42,433.41 S42,433.41 S42,433.41 S42,433.41 S42,433.41 S42,443.41 S42,443 S42,433.41 S42,443 S42,444 S42,443 S42,444 S42,444 S42,444 S42,444 S42,444 S							· •
Winter on	1/22/200		 			Total Unit 3	\$129.72
Winter on		213	432	387			
Winter on: 61,344 \$0.07993 \$4,903.23					•	Combined Total	\$42,433.41
Winter off 124,416	,						
Winter off : 111,744 \$0.05932 \$6,828.65 \$0.00 \$0.00 \$0.07020 \$0.00 \$0.00 \$0.07020 \$0.00 \$0.00 \$0.07020 \$0.00 \$0.00 \$0.07565 \$0.00 \$0.07565 \$0.00							
Summer off : 0 \$0.07926 \$0.00 Summer off : 0 \$0.07020 \$287,504 Winter off : 11,24,416 \$0.00023 \$4,080.06 Winter off : 111,744 \$0.00013 \$14,53 Summer off : 0 \$0.03352 \$0.00 Summer off : 0 \$0.03352 \$0.00 Summer off : 0 \$0.03352 \$0.00 Summer off : 0 \$0.00284 \$0.0028 Winter off : 96,576 \$0.05932 \$0.00 Summer off : 0 \$0.07926 \$0.000 Summer off : 0 \$0.007826 \$0.0000 Summer off : 0 \$0.00382 \$0.0000 Summer off : 0 \$0.007826 \$0.0000 Summer off : 0 \$0.00382 \$0.0000 Summer off : 0 \$0.00084 \$0.00000 Summer off : 0 \$0.00084 \$0.000000 Summer off : 0 \$0.00084 \$0.00000000000000000000000000000000000		•					
Summer off : 0							
Winter on : 61,344 \$0,001950 \$1,196.21							
Winter on: 61,344 \$0,01950 \$1,198.21 \$408.08 \$	Summer of	Programme and the community of the commu	\$0.07020		-		
Winter on: 61,344 \$0.01950 \$1,196.21		297,504		\$20,875.52			
Winter on: 61,344 \$0.01950 \$1,196.21							
Winter mid							
Winter off : 111,744 \$0,00013 \$14,53 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,618.82 \$0.00 \$1,00 \$	Winter or	n: 61,344	\$0.01950	\$1,196.21			
Summer off : 0 \$0.00284 \$0.00 \$0.00284 \$0.00 \$0.00284 \$0.00 \$0.00284 \$0.00 \$0.00284 \$0.00 \$0.00285 \$0.00 \$0.002	Winter mi	d: 124,416	\$0.00328	\$408.08			
Summer off :	Winter of	f: 111,744	\$0.00013	\$14.53			
Unit #1 kWh	Summer or	n: 0	\$0.03352	\$0.00			
Unit #1 kWh	Summer of	f: 0	\$0.00284	\$0.00			
Current AVG/HR AV3		297,504	•	\$1,618.82	•		
Current AVG/HR AV3							
LCSPP86-30 year	**************************************		biblio recommenda a compressa de la compressa	\$			
LCSPP86-30 year			\$0.07561	\$22,494.34			
Unit #2 Billing Date # D200329	AVG/HR	413					
Unit #2 Billing Date # D200329	LOODDOG 30 vees		B. S. eldin N. a. a	400	•		
# D200329 TOU On Peak Mid Peak Off Peak 2/21/2007 7,671 8,223 11,406 1/22/2007 7384 7650 10902 287 573 504 KWH		4 (00 (0007	•				
TOU On Peak Mid Peak Off Peak 2/21/2007 7,671 8,223 11,406 1/22/2007 7384 7650 10902 287 573 504			iO.	2/2 1/2007			
2/21/2007			581.4 (S).	066 B I-			
1/22/2007 7384 7650 10902 287 573 504		 provenencement at the contract of the contract of	PARTING THE PROPERTY OF THE PARTING THE PA	and the conference of the control of			
Number on : 54,912 \$0.07993 \$4,389.12							
Winter on : 54,912 \$0.07993 \$4,389.12	1/22/200				4		
Winter on: 54,912 \$0.07993 \$4,389.12 Winter mid: 109,824 \$0.07510 \$8,247.78 Winter off: 96,576 \$0.05932 \$5,728.89 Summer on: 0 \$0.07926 \$0.00 Summer off: 0 \$0.07020 \$0.00		201	3/5	504			
Winter on: 54,912 \$0.07993 \$4,389.12 Winter mid: 109,824 \$0.07510 \$8,247.78 Winter off: 96,576 \$0.05932 \$5,728.89 Summer on: 0 \$0.07926 \$0.00 Summer off: 0 \$0.07020 \$0.00		KWH	Fneray	\$			
Winter mid : 109,824 \$0.07510 \$8,247.78	Winter or						
Winter off : 96,576 \$0.05932 \$5,728.89 \$0.00 \$0.07926 \$0.00 \$0.00 \$0.07926 \$0.00 \$0.00 \$0.00 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.00000 \$0.00000 \$0.00000 \$0.00000 \$0.000000 \$0.00000 \$0.00000 \$0.00000 \$0.00000 \$0.00000 \$0.000000 \$0.000000 \$0.000000 \$0.000000 \$0.000000 \$0.000000 \$0.0000000 \$0.0000000 \$0.0000000 \$0.0000000 \$0.00000000							
Summer on: 0 Summer off: 0 \$0.07926 \$0.00 \$0.00 Summer off: 0 \$0.07920 \$0.00 KWH Capacity \$ \$ Winter on: 54,912 \$0.01950 \$1,070.78 Winter mid: 109,824 \$0.00328 \$360.22 \$360.22 Winter off: 96,576 \$0.00013 \$12.55 \$0.00 Summer off: 0 \$0.00352 \$0.00 \$0.00 Summer off: 0 \$0.00284 \$0.00 \$0.00 261,312 \$0.07581 \$19,809.35 \$1,443.56 Unit #2 kWh Current AVG/HR 363 \$0.07581 \$19,809.35 CSPP Short Term Unit #3 Billing Date #D200330 Multiplier 1/22/2007 to 384 384 2/21/2007							
Summer off : 0							
Number on : 54,912 \$0.01950 \$1,070.78			•				
Winter on : 54,912 \$0.01950 \$1,070.78 Winter mid : 109,824 \$0.00328 \$360.22 Winter off : 96,576 \$0.00013 \$12.55 Summer on : 0 \$0.03352 \$0.00 Summer off : 0 \$0.00284 \$0.00 Summer off : 0 \$0.00284 \$0.00 Summer off : 0 \$0.00284 \$0.00 261,312 \$0.00284 \$0.00 Winter off : 261,312 \$0.07581 \$19,809.35 Winter off : 261,312 \$0.07581 \$19,809.35 Winter off : 0 Wultiplier 384 Unit #2 kWh	Outside of		ψ0.07 020	Married County and an appropriate to the county of the cou	•		
Winter on: 54,912 \$0.01950 \$1,070.78 Winter mid: 109,824 \$0.00328 \$360.22 Winter off: 96,576 \$0.00013 \$12.55 Summer on: 0 \$0.03352 \$0.00 Summer off: 0 \$0.00284 \$0.00 261,312 \$1,443.56 Unit #2 kWh KWH \$/KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363 CSPP Short Term Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72 1/22/2007 844 14,786,434		201,012		Ψ10,000.70			
Winter on: 54,912 \$0.01950 \$1,070.78 Winter mid: 109,824 \$0.00328 \$360.22 Winter off: 96,576 \$0.00013 \$12.55 Summer on: 0 \$0.03352 \$0.00 Summer off: 0 \$0.00284 \$0.00 261,312 \$1,443.56 Unit #2 kWh KWH \$/KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363 CSPP Short Term Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72 1/22/2007 844 14,786,434		KWH	Capacity	s			
Winter mid: 109,824 \$0.00328 \$360.22 Winter off: 96,576 \$0.00013 \$12.55 Summer on: 0 \$0.03352 \$0.00 Summer off: 0 \$0.00284 \$0.00 261,312 \$1,443.56 Unit #2 kWh KWH \$/KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363 CSPP Short Term Multiplier 384 Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72	Winter or						
Winter off: 96,576 \$0.00013 \$12.55 Summer on: 0 \$0.03352 \$0.00 Summer off: 0 \$0.00284 \$0.00 261,312 \$1,443.56 Unit #2 kWh KWH \$/KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363 CSPP Short Term Multiplier 384 Unit #3 Billing Date 1/22/2007 to 2/21/2007 #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72							
Summer off: 0 \$0.03352 \$0.00 Summer off: 0 \$0.00284 \$0.00 261,312 \$1,443.56 Unit #2 kWh KWH \$/KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363 CSPP Short Term Multiplier 384 Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72							
Summer off : 0							
Unit #2 kWh KWH \$ KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363							
Unit #2 kWh KWH \$/KWH \$ Current 261,312 \$0.07581 \$19,809.35 AVG/HR 363 CSPP Short Term Multiplier 384 Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72	Guilling Of		40.00204	DODANIA CONTRACTOR DA CONTRACTOR DE CONTRACT	~		
Current AVG/HR 363 \$0.07581 \$19,809.35 AVG/HR \$0.07581 \$19,		201,012		Ţ.,¬¬O.OO			
Current AVG/HR 363 \$0.07581 \$19,809.35 AVG/HR 363 \$10,00000000000000000000000000000000000	Unit #2 kWh	kWH	\$/KWH	\$			
CSPP Short Term	Current	261,312		\$19,809.35	-		
Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72	AVG/HR	363					
Unit #3 Billing Date #D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72	A. A. D. C. C.			entransa en		PRESCRIPTION OF THE PROPERTY O	OKENSANASA NASA NASA SENSENJEN SENSENJEN SE SENSENJEN SE SENSENJEN SE SENSENJEN SE SENSENJEN SENSENJEN SE SENS
#D200330 Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72 1/22/2007 844 14,786,434		, ,,,,,,,,,					
Meter Reads SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72 1/22/2007 844 14,786,434 14,786,434			to	2/21/2007			
SPPC Switchgear KWH Sold CSPP Rate \$ 2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72 1/22/2007 844 14,786,434 14,786,434 14,786,434 14,786,434	#D200330						
2/21/2007 849 15,016,564 1,920 \$0.06756 \$129.72 1/22/2007 844 14,786,434							
1/22/2007 844 14,786,434		pressure and the second section of the second	PACESTON CONTRACTOR DE L'ANTIDIO DE L'ANTIDI				
		Communication of the Communica		1,920	\$0.06756	\$129.72	
i otai 5 230,130				j			
	iotal	5	230,130				

Who !

RECEIVED

MAR 0 5-2007

Division of Minerals

STATE OF NEVADA COMMISSION ON MINERAL RESOURCES

DIVISION OF MINERALS

400 W. King Street, Suite 106 Carson City, Nevada 89703 (775) 684-7040 - Fax (775) 684-7052

COMMERCIAL AND INDUSTRIAL CLASS GEOTHERMAL ELECTRIC PRODUCERS MONTHLY REPORT

Company Homestretch Geothermal, LLC. Address 15 Julian Ln. Yerington, NV 89447

Plant/Project Wabuska Power Plant County Lyon Month of January 2007

PLANT OUTPUT

Well No.	Permit No.	KWH Produced	KWH to Sales	Gallons Produced	Average Temp.
PW-1	DOM #671	0	0	0	219 Deg F
PW-2	DOM #672	840,638	565,920	121,514,400	219 Deg F

This report to be filed by the end of the month following the month herein reported.

I hereby certify that the information given herewith is true, correct and complete to the best of my knowledge.

Signature

Print name

Andrew E. Egbert

Telephone

(435) 668-6003

Date

February 26, 2006